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div(e) = | 2910 , 19900 | 0920 , Tor + v
or. r 00 0z -
00, + 1 aa'gz 00, Oy,
or r 00 0z r
0 cosf 0 —sin0
quidonneavecoe =Q|cosf 0 0]:div(e)= % 2cosf
0 0 0 0

Surrfff%(—sin@)-rd@- dr-dz-u, = —fofsin@ d6 dr dz(cosO iy +sinfuy)

Lintégrale en x donneOeten y: —QnRH

Sur 6 fff Q(Zcos@) -rdf-dr-dz- Uy = Zfof cos® dO dr dz(—sinf iy +cosOu,)
r
Lintégrale en x donneOeten y:2QnRH

Au total +QnRH U,y

Vecteurd S =R d6 dzu, = dSu;
0 cosf 0|1 0

a-dg):Q cos@ 0 0||lo[dS=QcosO|1|dS=QcosOpdS
0 0 0/1\0 0

QcosOR df dz(—sinf iy +cosOu,)

Lintégrale en x donneOeten y: QrRH ﬂ’y



